NOTES:

A. PROPORTIONAL CONTROL VALVE OPERATION
1. WARNING DO NOT CONNECT VALVE COIL DIRECTLY
TO BATTERY/POWER SUPPLY VOLTAGE.
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC
CONTROL SYSTEMS OR MODULES.

B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PUSH TO ENGAGE PRIMARY CLUTCH.
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PULL TO ENGAGE SECONDARY CLUTCH.

C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL
CONTROL VALVE IS IN THE CENTERED POSITION AND
OPEN WHEN LEVER IS ACTUATED FROM CENTERED POSITION.

2. CURRENT =20 AMP MAX.

3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE DRAWING.

INPUT GROUP REFERENCE PLANE
PTO ADAPTER MOUNTING FACE
LEFT MOUNTING BRACKET FACE
RIGHT MOUNTING BRACKET FACE
©16.2 THRU
8 HOLES EQUALLY SPACED
USE 10.9 PROPERTY CLASS QUALITY
CAPSCREWS PER ISO 898-1 AND
TORQUE TO S574 OR SERVICE
»196.0 MANUAL VALUES.
TEMPERATURE PORT
BEFORE HEAT EXCHANGER
M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm
OIL GAUGE
1] <
PRIMARY CLUTCH
VALVE COIL
SEE NOTE "A"
- 1520 —
IJ:I:L
—— =200 | - SECONDARY CLUTCH
40 — |t T | VALVE COIL
' _ @ | ! SEE NOTE "A"
= == == == == I
|
i SECONDARY CLUTCH (FIRST)
i == PRESSURE PORT
N ! . . M12x1.5 METRIC PORT
o pac ! ! CONFORMS TO ISO 6149
5 & | il S TIGHTENING TORQUE 16+1.5 Nm
N c»_ - T - - — —
S g | | L
© | I/ H@
} L OIL FILTER DRAIN
o By | = M22x1.5 METRIC PORT
@ . Y CONFORMS TO ISO 6149
S ! TIGHTENING TORQUE 54 +5 Nm
S Al | |
i T~ SECONDARY CLUTCH (SECOND)
| N PRESSURE PORT
e M12x1.5 METRIC PORT @
- ] u CONFORMS TO ISO 6149
e — TIGHTENING TORQUE 16+1.5 Nm
[ 1 | \ - - \ - 4@ I i =~
1! e 7 -
Ra | R SRR _F 18I
% - : : ! | | ) L I j ! ; i \
| ! ! ! ! | ! I: = |
o l % )f_" g q 15 1 LUBEPRESSU%EF(’)ORT @
Jo , - | M18x1.5 METRIC PORT
> K- O—- - @—-—@j}__ HoE CONFORMS TO 1SO 6149
~ g ——————f———7%5 [ | = |l TIGHTENING TORQUE 34 +3 Nm
:{ﬁ =

I
I
I
I
I
I
I
I
W
! i .S
I it
I A
=z = __
\l:__ —
0N ——

\|

/ N 1
M20x2.5-6H TAP, 32.0 DEEP :

18 HOLES (9 EACH SIDE) | \ \
USE ALL EIGHTEEN (18) HOLES | |
FOR MOUNTING UNIT. : ! N
USE 8.8 PROPERY CLASS QUALITY ! \

EYEBOLTS FOR LIFTING MARINE

TRANSMISSION ONLY (2 EYEBOLTS,
ONE EACH SIDE.) EQUALIZE LOAD
ON BOTH EYEBOLTS TO LIFT _

MARINE TRANSMISSION.

OIL OUT TO HEAT EXCHANGER
M33x2.0 THD. METRIC PORT
CONFORMS TO ISO 6149
REMOVE THREAD PROTECTOR
BEFORE OPERATING UNIT.

PRIMARY CLUTCH (FIRST)
PRESSURE PORT

M12x1.5 METRIC PORT
CONFORMS TO I1SO 6149
TIGHTENING TORQUE 16+1.5 Nm

/

MAIN PRESSURE PORT

M12x1.5 METRIC PORT

@ CONFORMS TO ISO 6149
CONNECT OIL PRESSURE
GAUGE LINE HERE.

TIGHTENING TORQUE 16+1.5 Nm

O O O
=

TEMPERATURE PORT

AFTER HEAT EXCHANGER
@ M14x1.5 METRIC PORT
CONFORMS TO ISO 6149

TIGHTENING TORQUE 20+2 Nm

1000976

O O

~ 74.0 =

211.2

OIL STRAINER/

OIL IN FROM HEAT EXCHANGER
M33x2.0 THD. METRIC PORT
CONFORMS TO ISO 6149
REMOVE THREAD PROTECTOR
BEFORE OPERATING UNIT.
TIGHTENING TORQUE 88 +8 Nm

=y 7 =
I | 7 AN l X /
7 N [ ! e INPUT SPEED SENSOR PORT
N f I I 5/8-18UNF-28 TH'D. @
= A ) | / TARGET WHEEL : 54 TEETH
: S A Y
|— —~ | | ;
|
ImEC S———ar I
- i
— |
- - f ]
Il
i
382.53
031 75 EYE BOLT(2 PLACES) BREATHER
e |
_—SEENOTE'B’
X == (1)
I \
\ | )
i ] .
> , jams} jama} Jama] [amamn) o fan \ OO_
i — U INPUT SHAFT ¢ N
IN Disce/ ) <= N
: S==—___ 1023384A,' il P \\ TWHN
S ~ nl s
Ce
\
| |
|_—RH. ENGINE ROTATION
DRIVEN THROUGH PRIMARY
o
(@]
S
o
<t
~
‘ 3
| ~
T~—12X ®24.5 THRU
EQUALLY SPACED
~
™~ $292.10B.C. E
o
o

SEE NOTE "C"
x

g

PRIMARY CLUTCH (SECOND)

PRESSURE PORT

539.02

MANIFOLD FACE

L/§4FILTER

M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+1.5 Nm

168.41
(2 PLACES)

—~— EYE BOLT —

OUTPUT SPEED :E i
SENSOR BRACKET i

TARGET WHEEL : 64 TEETH

GREASE FITTING

et——

?342.84
$177.725+0.025
PILOT

OUTPUT SHAFT ¢ / |

]

—

s==u) \?_—_—:'-l-‘l-‘—_— ==

10.4 —

6.2 —

CAPSCREWS PER ISO 89-1 AND ! \/ 254 — = |-
TORQUE TO S574 OR SERVICE | . | ‘
MANUAL VALUES. | .
o
% - - g ﬁ&l—— e \
45°
TYP
5080 | |_ 177.80 235.2 - 235.2 — 533.30 -
TYP TYP \
. 279.40 _ - 976,63 _ OIL DRAIN
TYP : M33x2.0 METRIC PORT
CONFORMS TO ISO 6149
658.8 TIGHTENING TORQUE 88+8 Nm
- 406.40 —— 406.40 - EQUIPMENT SHOWN:
- MGX-5225DC
- 1019735A INPUT HUB
- GP VALVE WITH EC050 MODULE
- | NDWF-02824 | 06/06/2011
REV CHANGE NO. DATE
X MATERIAL: DATE:
e ™ @) T e ooz
. : R o &y I\, PROJECTION SCALE:
NOTE S UNLESS OTHERWISE SPECIFIED HEAT TREAT: 14 RAGINE, W1 53403 - USA
) DRAWN BY:
ALL POINTS AVAILABLE FOR TESTING ARE CODED <:> M ETR C MAC D IS O YU ‘| 02 5 5 4 ‘| C
T R T T ST K08 PESCPTON AL
"*""TWIN DISC, INCORPORATED et Ry NP INSTALLATION APPROVED BY. |DWG SHEET REV:
GRANTEDTO THE U8, GOVERNMENT GR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX-5225DC ALC size: - AQ 10F1]| -




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7


